# Finding Some General Exact Solutions to the Non-Linear Monge-Ampere Equations (PDEs)

Steve Anglin, Sc.M., Ph.D.(h.c.)

& Post-Doc, Case Western Reserve University Department & University Cleveland, OH United States of America

**Abstract** - We look at general exact solutions for non-linear Monge-Ampere partial differential equations (PDEs). They are nonlinear elliptic PDEs which typically model surfaces with curvature from differential geometry, optics and other applications of this used by physicists as well as applied and industrial mathematicians.

**Keywords** — Monge, Ampere, partial, differential equations, PDEs, differential geometry, elliptic, solution, optics, math, applied, calculus

We start off with the simplest case for a non-homogeneous Monge-Ampere PDE, using a constant A.

#### **Definition 1**

$$(u_{xy})^2 - u_{xx}u_{yy} = A, A = a^2 > 0$$
$$u = \pm \frac{\sqrt{A}}{C_2}x(C_1x + C_2y) + \phi(C_1x + C_2y) + C_3x + C_4y$$

#### Example 1

$$(u_{xy})^2 - u_{xx}u_{yy} = 9, 9 = 3^2 > 0$$
$$u = \pm 3C_2x(C_1x + C_2y) + \phi(C_1x + C_2y) + C_3x + C_4y$$

Next, we look at an arbitrary function f

## **Definition 2**

$$(u_{xy})^2 - u_{xx}u_{yy} = f(x)$$
$$u = \pm \int \sqrt{f(x)}dx + \phi(x) + C_1y$$

Example 2.1

$$(u_{xy})^{2} - u_{xx}u_{yy} = 4e^{6x}$$
$$u = \pm \int \sqrt{4e^{6x}} dx + \phi(x) + C_{1}y$$
$$u = \pm \frac{2\sqrt{e^{6x}}}{3} + C_{2} + \phi(x) + C_{1}y$$

We now take an arbitrary functional and multiply it by the independent variable y.

## **Definition 3**

$$(u_{xy})^2 - u_{xx}u_{yy} = f(x)y$$
$$u = C_1y^3 - \frac{1}{6C_1}\int_a^x (x-t)f(t)dt + C_2x + C_3y + C_4$$

## Example 3.1

$$(u_{xy})^2 - u_{xx}u_{yy} = ln(x)y$$
$$u = C_1y^3 - \frac{1}{6C_1}\int_0^x (x-t)ln(t) + C_2x + C_3y + C_4$$
$$u = C_1y^3 - (\frac{1}{12C_1}x(x-2t)ln(t)) + C_2x + C_3y + C_4$$

# Example 3.2

$$(u_{xy})^2 - u_{xx}u_{yy} = 3x^3y$$
$$u = C_1y^3 - \frac{1}{6C_1}\int_0^x (x-t)3t^3dt + C_2x + C_3y + C_4$$
$$u = C_1y^3 - \frac{1}{4C_1}t^3x(x-2t) + C_2x + C_3y + C_4$$

Now, the independent variable y is squared times the arbitrary function f in the following.

#### **Definition 4**

$$(u_{xy})^2 - u_{xx}u_{yy} = f(x)y^2$$
$$u = C_1y^4 - \frac{1}{12C_1}\int_a^x (x-t)f(t)dt + C_2x + C_3y + C_4$$

Example 4.1

$$(u_{xy})^{2} - u_{xx}u_{yy} = \frac{1}{x - t}y^{2}$$
$$u = C_{1}y^{4} - \frac{1}{12C_{1}}\int_{a}^{x}(x - t)\frac{1}{x - t}dt + C_{2}x + C_{3}y + C_{4}$$
$$u = C_{1}y^{4} - \frac{1}{12C_{1}}\int_{a}^{x}dt + C_{2}x + C_{3}y + C_{4}$$
$$u = C_{1}y^{4} - \frac{1}{12C_{1}}\int_{0}^{x}dt + C_{2}x + C_{3}y + C_{4}$$

$$u = C_1 y^4 - \frac{1}{12C_1} x + C_2 x + C_3 y + C_4$$

Now, the independent variable y is to the nth power in the following.

# **Definition 5**

$$(u_{xy})^2 - u_{xx}u_{yy} = f(x)y^k$$
$$u = \frac{C_1y^{k+2}}{(k+1)(k+2)} - \frac{1}{C_1}\int_a^x (x-t)f(t)dt + C_2x + C_3y + C_4$$

## Example 5.1

$$(u_{xy})^{2} - u_{xx}u_{yy} = x^{2}y^{5}$$
$$u = \frac{C_{1}y^{7}}{42} - \frac{1}{C_{1}}\int_{a}^{x}(x-t)t^{2}dt + C_{2}x + C_{3}y + C_{4}$$
$$u = \frac{C_{1}y^{7}}{42} - \frac{1}{C_{1}}\left[\frac{x^{4}}{3} - \frac{x^{4}}{4}\right] + C_{2}x + C_{3}y + C_{4}$$

#### Example 5.2

$$(u_{xy})^{2} - u_{xx}u_{yy} = \frac{y^{5}}{x - t}$$
$$u = \frac{C_{1}y^{7}}{42} - \frac{1}{C_{1}}\int_{0}^{x} dt + C_{2}x + C_{3}y + C_{4}$$
$$u = \frac{C_{1}y^{7}}{42} - \frac{x}{C_{1}} + C_{2}x + C_{3}y + C_{4}$$

The following M-A Equations equal a function in the form of Ax to the n power times y to the k power.

### **Definition 6**

$$(u_{xy})^2 - u_{xx}u_{yy} = Ax^n y^k$$
$$u = \frac{C_1 x^{(n+2)}}{(n+1)(n+2)} - \frac{Ay^{k+2}}{C_1(k+1)(k+2)} + C_2 y + C_3 x + C_4$$

# Example 6

$$(u_{xy})^2 - u_{xx}u_{yy} = 25x^3y^4$$
$$u = \frac{C_1x^5}{20} - \frac{25y^6}{30C_1} + C_2y + C_3x + C_4$$

Next, we have the following definition and example that multiplies an arbitrary function f(x) with an exponential function to the power of lamda times y.

#### **Definition 7**

$$(u_{xy})^2 - u_{xx}u_{yy} = f(x)e^{\lambda y}$$
  
 $u = C_1 \int_a^x (x-t)f(t)dt + C_2x - \frac{1}{C_1\lambda^2}e^{\lambda y} + C_3y + C_4$ 

## Example 7.1

$$(u_{xy})^{2} - u_{xx}u_{yy} = 3x^{2}e^{3y}$$
$$u = C_{1}\int_{0}^{x}(x-t)3t^{2}dt + C_{2}x - \frac{1}{9C_{1}}e^{3y} + C_{3}y + C_{4}$$
$$u = 3C_{1}\left[\frac{x^{4}}{3} - \frac{x^{4}}{4}\right] + C_{2}x - \frac{1}{9C_{1}}e^{3y} + C_{3}y + C_{4}$$

Now, we have two arbitrary functions f(x) times g(y) plus some arbitrary constant squared.

## **Definition 8**

$$(u_{xy})^2 - u_x u_y = f(x)g(y) + A^2$$
$$u = C_1 \int_0^x (x-t)f(t)dt - \frac{1}{C_1} \int_0^y (y-\xi)g(\xi)d\xi \pm Axy + C_2x + C_3y + C_4$$

#### Example 8

$$(u_{xy})^2 - u_x u_y = x^2 y^3 + 9$$
  
$$u = C_1 \int_0^x (x-t) t^2 dt - \frac{1}{C_1} \int_0^y (y-\xi) \xi^3 d\xi \pm 3xy + C_2 x + C_3 y + C_4$$
  
$$u = C_1 [\frac{x^4}{3} - \frac{x^4}{4}] - \frac{1}{C_1} [\frac{y^5}{4} - \frac{y^5}{5}] \pm 3xy + C_2 x + C_3 y + C_4$$

Now, we have M-A Equation that equals some arbitrary function f that has the form of ax+by:

## **Definition 9**

$$(u_{xy})^2 - u_{xx}u_{yy} = f(ax + by)$$
$$u = \pm \frac{x}{b} \int \sqrt{f(z)}dz + \phi(z) + C_1x + C_2y$$

Example 9

$$(u_{xy})^{2} - u_{xx}u_{yy} = (3x + 5y)^{2}$$

$$u = \pm \frac{x}{5} \frac{z\sqrt{z^{2}}}{2} + C_{3} + \phi(z) + C_{1}x + C_{2}y$$

$$u = \pm \frac{xz\sqrt{z^{2}}}{10} + C_{3} + \phi(z) + C_{1}x + C_{2}y$$

$$z = 3x + 5y$$

$$u = \pm \frac{x(3x + 5y)\sqrt{(3x + 5y)^{2}}}{10} + C_{3} + \phi(3x + 5y) + C_{1}x + C_{2}y$$

For the rest of this article, we look at other variations of some arbitrary function in varying forms.

# **Definition 10**

$$(u_{xy})^2 - u_{xx}u_{yy} = f(x^2 + y^2)$$
$$u = C_1\phi \pm \int \sqrt{C_2 - 2F(r) - C_1^2 r^{-2}} dr + C_3$$
$$F(r) = \int rf(r) dr$$
$$r = \sqrt{x^2 + y^2}, tan\phi = y/x$$

Example 10

$$(u_{xy})^2 - u_{xx}u_{yy} = 4(x^2 + y^2)$$
  

$$F(r) = \int r4r^2 dr = r^4 + C$$
  

$$u = C_1\phi \pm \int \sqrt{C_2 - 2F(r) - C_1^2 r^{-2}} dr + C_3$$
  

$$u = C_1\phi \pm \int \sqrt{C_2 - 2(r^4 + C_4) - C_1^2 r^{-2}} dr + C_3$$

**Definition 11** 

$$(u_{xy})^2 - u_{xx}u_{yy} = \frac{1}{x^4}f(\frac{y}{x})$$
$$u = x\phi(\frac{y}{x}) \pm \int \sqrt{f(z)}dz + C, z = y/x$$

#### Example 11

$$(u_{xy})^{2} - u_{xx}u_{yy} = \frac{1}{x^{4}}(\frac{y}{x})^{3}$$
$$u = x\phi(\frac{y}{x}) \pm \int \sqrt{z^{3}}dz + C, z = y/x$$
$$u = x\phi(z) \pm \frac{2z\sqrt{z^{3}}}{5} + C_{2} + C_{1}$$
$$u = x\phi(\frac{y}{x}) \pm \frac{2y\sqrt{\frac{y}{x}}}{5x} + C_{2} + C_{1}$$

**Definition 12** 

$$(u_{xy})^2 - u_{xx}u_{yy} = f(ax - by^2)$$
$$u = \pm \int \sqrt{F(z) - C_1}dz + C_2x + C_3y + C_4$$
$$F(z) = \frac{1}{a^2b} \int f(z)dz, z = ax - by^2$$

Example 12

$$(u_{xy})^{2} - u_{xx}u_{yy} = 3(5x - 7y^{2})$$

$$z = 5x - 7y^{2}, f(z) = 3z$$

$$F(z) = \frac{1}{5^{2}7} \int 3z \, dz = \frac{3}{350}z^{2} + C$$

$$u = \pm \int \sqrt{F(z) - C_{1}} \, dz + C_{2}x + C_{3}y + C_{4}$$

$$u = \pm \int \sqrt{\frac{3}{350}z^{2} + C_{5} - C_{1}} \, dz + C_{2}x + C_{3}y + C_{4}$$

$$u = \pm \frac{1}{10}z\sqrt{25C_{5} - C_{1} + \frac{3z^{2}}{14}} - 5\sqrt{\frac{7}{6}}(C_{1} - C_{5})ln(\sqrt{9z^{2} - 1050(C_{1} - C_{5})}) + 3z) + C_{6} + C_{2}x + C_{3}y + C_{4}$$

#### **AUTHOR BIO**

**Steve Anglin, Sc.M, Ph.D. (h.c.)** is an applied mathematician, a member in The Society of Industrial and Applied Mathematics, and a former visiting lecturer at Case Western Reserve University and Saint Leo University. Steve received his Master of Science in Applied Mathematics from Brown University of The Ivy League and Hon. Doctorate from Trinity College.

#### REFERENCES

- [1] Rozhdestvenskii, B. L. and Yanenko, N. N., Systems of Quasilinear Equations and Their Applications to Gas Dynamics, Amer. Math. Society, Providence, 1983.
- [2] Khabirov, S. V., Nonisentropic one-dimensional gas motions obtained with the help of the contact group of the nonhomogeneous Monge–Ampere equation, [in Russian], Mat. Sbornik, Vol. 181, No. 12, pp. 1607–1622, 1990.
- [3] Ibragimov, N. H. (Editor), CRC Handbook of Lie Group Analysis of Differential Equations, Vol. 1, Symmetries, Exact Solutions and Conservation Laws, CRC Press, Boca Raton, 1994.
- [4] Polyanin, A. D. and Zaitsev, V. F., Handbook of Nonlinear Partial Differential Equations, Chapman & Hall/CRC, Boca Raton, 2004.
- [5] Goursat, E., A Course of Mathematical Analysis. Vol 3. Part 1 [Russian translation], Gostekhizdat, Moscow, 1933.